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—Faultg (L1)[AT,DT]: [-3.44840, -10.0000]
- Faultg (NC): [-3.4484340, 5.1011444]
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iHoned DatarRange: [-125.082,-0:04 1 5 200 |
Shoj #: 146561, dcps_auto_ja, Param Tree: 1
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:_FUHIACtiOI‘] (DICPS), Limilt = 61900.(500, Max.=1130964.03l, End Val. IZI.29916.60—I—
- Action (idl), Max = 129923., End Val.= 12992
_ Full Action (idl), Limit = 61900.000, Max.z,
[_Shot #: 146561., Param Tr
- Fault Time: 0.26195692

Faults (L1) [AT,DT]: [-3.44

970., End Val. 129923.
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C IDL: Circular,l [-125.OSZI, 0.04152190]

:—DCPS, Circular, [-125.08208, 0.041528954]

- IDL, Shaped [Displaced], [-125.082, 0.0415290]

" DCPS, Shaped [Displaced], [-125.08208, 0.041528954]

[ Shot #: 146561., Param Tree: 142
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